Multiplicacion por Celosia (B)

Use la multiplicacion por celosia para hallar cada producto.

3 6 2 9

1 > ? 2

7 3 7 0

7 4 > 4
36 x 177 = 33 % 3 = 14 915 = 99 004 =
60 > 9 2 0 19

5 2 9 4

8 5 3 >

4 9 2 4
9 1 3 7 5 8 3 4

5 9 6 4

0 1 0 0

5 4 7 5

91 x 505 = 37 x 914 = 58 x 607 = 34 x 405 =

MatesLibres.Com




Multiplicacion por Celosia (B) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

30 25 25 o1 %4 z 0
010 1 2175 5 > 1 9‘ 6 ? 0 : 2
o, 3 6 1 1 5 o, 4/ 8
204 T o, s,/ 5" 3,9 Vo
6 1 2 5,7 07 0
2 /04 YA 4 012 5 0 3
7 3L, 0 0 6 5 0 4
3 | 2 — S0 9, 8 6
7 2 1 6
. 55 x 534 = 14 x 975 = o
36 X177 =6,372 29.370 13,650 20 x204=5,916
36 00 15 19 12 oo b0
3L, 07 0 > 1 o, 8 2 1 8l 0 ? 00 A 3 . 4
4 10 g 2 4 5 0 10 3
0 1
5 8 0 5 5 5 8 6/, 0 o 5 9 2
2 10 4 4 /18 9 0 10 ’ VAR
o, 4/ 0 2175 1 6,/ 4 0 ol 4 ; 6 4
4 0 8 1 4 0 S ¢
60 x 584 = 59 x 259 = 20 x 932 = o
35,040 15,281 18,640 19 x 424 = 38,056
9 1 37 5 8 3 4
4 /10 5 2 6 9 3 N4 6 1 1 4
4, 51,/ 5 3, 71, 3 3L, 0, 8 120 6
0 10 0 0 10 1 0 10 0 0 10 0
570 0 3, 31 7 5,70, 0 3,7 0, 0
4 /10 5 1 2 4 3 /5 7 1 2 5
9.5,/ 5 8l 2| 8 207 57 6 7 57 0
5 5 1 8 0 6 7 0
91 x 505 = 37 x 914 = 58 x 607 = 34 x 405 =
45,955 33,818 35,206 13,770
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